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—%(60 mm) = -38.197 mm

>4 = 10,053 + 30,159 = 40,212 mm®
S(zA) = (0)(10,053) + (60 mm)(30,159) = 1,809,540 mm®
>(zA) = (33.953)(10,053) + (-38.197)(30,159) = -810,654 mm®
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¥ - Y(xA) _ 1,809,540 mr;l — 45.0 mm
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= center of gravity = (45.0 mm, 80.0 mm
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>L = 3(34.0 cm) + 50.27 cm = 152.27 cm

S(yL) = 3(15)(34.0) (0)(50.27) cm* = 1,530 cm?

2(zL) = (0)(34.0) + (8)(34.0) + (0)(34.0) + (10.186)(50.27) cm® = 784 cm®
X(yL) 1,530 cm?

Y = 5 = 152.97 om = 10.048 cm
—  x(zr) _ 784 cm*
Z= 507 T Tmogram - 0-149 em

center of gravity = (0, 10.05 cm, 5.15 cm)



